

ON CLOSED-FORM SOLUTIONS OF SOME NONLINEAR PARTIAL DIFFERENTIAL EQUATIONS

S. S. OKOYA

(Received 12 June 1995)

ABSTRACT. This paper is devoted to closed-form solutions of the partial differential equation: $\theta_{xx} + \theta_{yy} + \delta \exp(\theta) = 0$, which arises in the steady state thermal explosion theory. We find simple exact solutions of the form $\theta(x, y) = \Phi(F(x) + G(y))$, and $\theta(x, y) = \Phi(f(x + y) + g(x - y))$. Also, we study the corresponding nonlinear wave equation.

Keywords and phrases. Thermal explosion theory, exothermic reaction, endothermic reaction, large activation energy.

2000 Mathematics Subject Classification. Primary 80A25, 35K05, 35L05.

1. Introduction. In this paper, we study the following standard nonlinear partial differential equation, which occurs in combustion theory.

$$\theta_{xx} + \theta_{yy} + \delta \exp(\theta) = 0, \quad (1.1)$$

where as usual x and y denote cartesian coordinates, $\theta(x, y)$ is the dimensionless temperature, and δ is a strictly positive constant which is sometimes referred to as the Frank-Kamenetskii parameter. In particular, (1.1) arises in the thermal explosion theory of an exothermic reaction of a gas, taking place in a closed vessel, or of a solid in the important limiting case of large activation energy [3, 4].

In a recent related paper, Rubel [7] found simple exact solutions of (1.1) with $\delta = 0$ via quasisolutions of the form $\Phi(F(x) + G(y))$. Rubel pointed out that the organized method of differential-stacked matrices in [5] has some advantages over the *ad hoc* method of [7], but that the calculations are still lengthy. It is worth pointing out that simple exact solutions for many nonlinear partial differential equations are always important, because closed-form (or explicit) solutions are so hard to come by that any examples are valuable in themselves.

The present paper considers (1.1), which was examined in [1] for the case of a slab with spatially periodic surface temperature, but we found simple exact solutions of a kind of separation of variables of the form

$$\theta(x, y) = \Phi(F(x) + G(y)). \quad (1.2)$$

We also study the corresponding nonlinear wave equation. However, it is worth pointing out that Stuart [9] investigated a class of solutions of (1.1) which arises in the nonlinear inviscid incompressible motion of laminar fluid.

The germ of our procedure is contained in the paper by Rubel [7] and the solutions are better left in the more general form. All functions appearing in this paper are supposed to be real analytic on a domain in the appropriate Euclidean space.

2. Laplace's equation with nonlinear source term

THEOREM 2.1. *Suppose that $\theta = \Phi(F(x) + G(y))$ is a nonconstant real solution of (1.1). Then for $\delta > 0$, there exists some real constants A, B, C , and λ such that θ has at least the following six forms:*

$$\theta = -2\ln[A + B(x^2 + y^2)] \quad \text{provided } 8AB = \delta, \quad (2.1)$$

$$\begin{aligned} \theta &= -2\ln[A + Bx + C(x^2 + y^2)] \quad \text{provided } 8AC = 2B^2 + \delta \\ (\text{also, } \theta &= -2\ln[A + By + C(x^2 + y^2)] \quad \text{provided } 8AC = 2B^2 + \delta, \\ \text{and } \theta &= -2\ln[A + B(x + y) + C(x^2 + y^2)] \quad \text{provided } 8AC = 4B^2 + \delta), \end{aligned} \quad (2.2)$$

$$\theta = -2\ln[A \cosh \lambda x] \quad \text{provided } 2\lambda^2 A^2 = \delta, \quad (2.3)$$

$$\theta = -2\ln[A \cosh \lambda y] \quad \text{provided } 2\lambda^2 A^2 = \delta, \quad (2.4)$$

$$\theta = -2\ln[A \cosh \lambda x - B \cos \lambda y] \quad \text{provided } 2\lambda^2(A^2 - B^2) = \delta, \quad (2.5)$$

$$\theta = -2\ln[A \cosh \lambda y - B \cos \lambda x] \quad \text{provided } 2\lambda^2(A^2 - B^2) = \delta. \quad (2.6)$$

Furthermore, each of these cases gives a solution of the form $\Phi(F(x) + G(y))$.

PROOF. Let $z = x + iy$. Then $\bar{z} = x - iy$. Therefore,

$$\frac{\partial^2}{\partial x^2} = \frac{\partial^2}{\partial z^2} + 2\frac{\partial^2}{\partial z \partial \bar{z}} + \frac{\partial^2}{\partial \bar{z}^2} \quad (2.7)$$

and

$$\frac{\partial^2}{\partial y^2} = -\left(\frac{\partial^2}{\partial z^2} - 2\frac{\partial^2}{\partial z \partial \bar{z}} + \frac{\partial^2}{\partial \bar{z}^2}\right). \quad (2.8)$$

Substituting (2.7) and (2.8) into (1.1), we obtain

$$\frac{\partial^2 \theta}{\partial z \partial \bar{z}} + \frac{\delta}{4} \exp(\theta) = 0. \quad (2.9)$$

By differentiating (2.9) partially with respect to z and then eliminating the exponential term between the resulting expression and (2.9), we find that

$$\frac{\partial^3 \theta}{\partial^2 z \partial \bar{z}} - \frac{\partial \theta}{\partial z} \frac{\partial^2 \theta}{\partial z \partial \bar{z}} = 0. \quad (2.10)$$

Equation (2.10) can be expressed as

$$\frac{\partial}{\partial \bar{z}} \left(\frac{\partial^2 \theta}{\partial z^2} - \frac{1}{2} \left(\frac{\partial \theta}{\partial z} \right)^2 \right) = 0. \quad (2.11)$$

Integrating (2.11) with respect to \bar{z} , we get

$$\frac{\partial^2 \theta}{\partial z^2} - \frac{1}{2} \left(\frac{\partial \theta}{\partial z} \right)^2 = -2P(z), \quad (2.12)$$

where $P(z)$ is an arbitrary function and can be chosen to generate all the required explicit solutions. Define $\alpha(z, \bar{z})$ by

$$\frac{\partial \theta}{\partial z} = -\frac{2}{\alpha} \frac{\partial \alpha}{\partial z}. \quad (2.13)$$

Then by substituting in (2.12), we get

$$\frac{\partial^2 \alpha}{\partial z^2} = P(z)\alpha. \quad (2.14)$$

The required solution can be written in the form

$$\alpha(z, \bar{z}) = \alpha_1(z)\bar{\alpha}_1(\bar{z}) + \alpha_2(z)\bar{\alpha}_2(\bar{z}), \quad (2.15)$$

where $\alpha_1(z)$ and $\alpha_2(z)$ are analytic functions of z and independent solutions of (2.14). The definition (2.13) gives

$$\alpha = \exp\left(-\frac{\theta}{2}\right). \quad (2.16)$$

Differentiating (2.13) partially with respect to \bar{z} gives

$$\frac{\partial^2 \theta}{\partial z \partial \bar{z}} = -2 \left(\frac{1}{\alpha} \frac{\partial^2 \alpha}{\partial z \partial \bar{z}} - \frac{1}{\alpha^2} \frac{\partial \alpha}{\partial \bar{z}} \frac{\partial \alpha}{\partial z} \right). \quad (2.17)$$

In (2.17), substituting for α from (2.15) results in

$$\frac{\partial^2 \theta}{\partial z \partial \bar{z}} = -\frac{2}{\alpha^2} |\mu|^2, \quad (2.18)$$

where

$$\mu(z) = \alpha_1 \frac{d\alpha_2}{dz} - \alpha_2 \frac{d\alpha_1}{dz}. \quad (2.19)$$

Substitution of (2.16) and (2.18) in (2.9) gives

$$|\mu|^2 = \frac{\delta}{8}. \quad (2.20)$$

To obtain the low-degree polynomials in (x, y) , we chose $P(z) = 0$.

CASE 1 OF THEOREM 2.1. Let $\alpha_1 = A^{1/2}$ and $\alpha_2 = B^{1/2}z$, where A and B are real constants. Substituting in (2.15) then gives $\alpha = \exp(-\theta/2) = A + B(x^2 + y^2)$. Thus, we have $8AB = \delta$.

CASE 2 OF THEOREM 2.1. Let $\alpha_1 = B_0^{1/2} + C^{1/2}z$ and $\alpha_2 = A_0^{1/2}$, where A_0, B_0 , and C are real constants. Substituting in (2.15) then gives $\alpha = \exp(-\theta/2) = A + Bx + C(x^2 + y^2)$, where $A = A_0 + B_0$ and $B = 2(B_0C)^{1/2}$. Thus, we obtain $8AC - 2B^2 = \delta$.

CASE 3 OF THEOREM 2.1. Let $P(z) = \lambda^2/4$, $\alpha_1 = (A/2)^{1/2} \exp(\lambda z/2)$, and $\alpha_2 = (A/2)^{1/2} \exp(-\lambda z/2)$, where A and λ are real constants. Thus, $\alpha = \exp(-\theta/2) = A \cosh \lambda x$ with $2\lambda^2 A^2 = \delta$.

CASE 4 OF THEOREM 2.1. Let $P(z) = -\lambda^2/4$, $\alpha_1 = (A/2)^{1/2} \exp(i\lambda z/2)$, and $\alpha_2 = (A/2)^{1/2} \exp(-i\lambda z/2)$, where A and λ are real constants. Hence, $\alpha = \exp(-\theta/2) = A \cosh \lambda y$ with $2\lambda^2 A^2 = \delta$.

CASE 5 OF THEOREM 2.1. Let $P(z) = \lambda^2/4$, $\alpha_1 = (A+B)^{1/2} \sinh(\lambda z/2)$, and $\alpha_2 = (A-B)^{1/2} \cosh(\lambda z/2)$, where A, B , and λ are real constants. Therefore, $\alpha = \exp(-\theta/2) = A \cosh \lambda x - B \cos \lambda y$ with $2\lambda^2(A^2 - B^2) = \delta$.

CASE 6 OF THEOREM 2.1. Let $P(z) = -\lambda^2/4$, $\alpha_1 = (A+B)^{1/2} \sin(\lambda z/2)$, and $\alpha_2 = (A-B)^{1/2} \cos(\lambda z/2)$, where A, B , and λ are real constants. Therefore, $\alpha = \exp(-\theta/2) = A \cosh \lambda y - B \cos \lambda x$ with $2\lambda^2(A^2 - B^2) = \delta$.

Finally, the other choices of α_1 and α_2 for some other possibilities of $P(z)$ that we try in Remark 2 do not satisfy the conditions of Theorem 2.1. Thus, the first part of the Theorem is proved. The 'furthermore' part is easily verified by direct computations. This completes the proof of the theorem. \square

THEOREM 2.2. Suppose that $\theta = \Phi(f(x+y) + g(x-y))$ is a nonconstant real solution of (1.1). Then for $\delta > 0$, there exists some real constants A, B, C , and λ such that θ has at least the following six forms:

$$\theta = -2 \ln[A + B(x+y)^2 + B(x-y)^2] \quad \text{provided } 16AB = \delta, \quad (2.21)$$

$$\begin{aligned} \theta &= -2 \ln[A + B(x+y) + C(x+y)^2 + C(x-y)^2] \quad \text{provided } 16AC = 4B^2 + \delta \\ (\text{also, } \theta &= -2 \ln[A + B(x-y) + C(x-y)^2 + C(x+y)^2] \quad \text{provided } 16AC = 4B^2 + \delta, \\ \text{and } \theta &= -2 \ln[A + B(x+y) + C(x+y)^2 + B(x-y) + C(x-y)^2] \\ &\quad \text{provided } 16AC = 8B^2 + \delta), \end{aligned} \quad (2.22)$$

$$\theta = -2 \ln[A \cosh \lambda(x+y)] \quad \text{provided } 4\lambda^2 A^2 = \delta, \quad (2.23)$$

$$\theta = -2 \ln[A \cosh \lambda(x-y)] \quad \text{provided } 4\lambda^2 A^2 = \delta, \quad (2.24)$$

$$\theta = -2 \ln[A \cosh \lambda(x+y) - B \cos \lambda(x-y)] \quad \text{provided } 4\lambda^2(A^2 - B^2) = \delta, \quad (2.25)$$

$$\theta = -2 \ln[A \cosh \lambda(x-y) - B \cos \lambda(x+y)] \quad \text{provided } 4\lambda^2(A^2 - B^2) = \delta. \quad (2.26)$$

Moreover, each of these cases gives a solution of the form $\Phi(f(x+y) + g(x-y))$.

PROOF. Let $\xi = x+y$ and $\eta = x-y$. Then (1.1) reduces to

$$\frac{\partial^2 \theta}{\partial \xi^2} + \frac{\partial^2 \theta}{\partial \eta^2} + \frac{\delta}{2} \exp(\theta) = 0. \quad (2.27)$$

The general solution of (2.27) follows easily by exploiting Theorem 2.1 and this implies the conclusion of the theorem. \square

3. Nonlinear wave equation in two variables. It is easy to show that $\theta(x, y)$ is a solution of the wave equation in two variables if and only if $\theta(x, iy)$ is a solution of the Laplace equation in two variables. Hence, since Theorems 2.1 and 2.2 are purely formal, we have the following results, with no need for further proofs.

THEOREM 3.1. *Suppose that $\theta(x, y) = \Phi(F(x) + G(y))$ is a nonconstant solution of*

$$\theta_{xx} - \theta_{yy} + \delta \exp(\theta) = 0. \quad (3.1)$$

Then for $\delta > 0$, there exists some real constants A, B, C, D , and λ such that θ has at least the following six forms:

$$\theta = -2 \ln [A + B(x^2 - y^2)] \quad \text{provided } 8AB = \delta, \quad (3.2)$$

$$\theta = -2 \ln [A + Bx + C(x^2 - y^2)] \quad \text{provided } 8AC = 2B^2 + \delta$$

(also, $\theta = -2 \ln [A + By + C(x^2 - y^2)] \quad \text{provided } 8AC + 2B^2 = \delta,$ (3.3)

$$\text{and } \theta = -2 \ln [A + Bx + Cy + D(x^2 - y^2)] \quad \text{provided } 8AD + 2C^2 = 2B^2 + \delta),$$

$$\theta = -2 \ln [A \cosh \lambda x] \quad \text{provided } 2\lambda^2 A^2 = \delta, \quad (3.4)$$

$$\theta = -2 \ln [A \cos \lambda y] \quad \text{provided } 2\lambda^2 A^2 = \delta, \quad (3.5)$$

$$\theta = -2 \ln [A \cosh \lambda x - B \cosh \lambda y] \quad \text{provided } 2\lambda^2 (A^2 - B^2) = \delta, \quad (3.6)$$

$$\theta = -2 \ln [A \cosh \lambda y - B \cos \lambda x] \quad \text{provided } 2\lambda^2 (A^2 - B^2) = \delta. \quad (3.7)$$

In addition, each of these cases gives a solution of the form $\Phi(F(x) + G(y))$.

THEOREM 3.2. *Suppose that $\theta(x, y) = \Phi(f(x + iy) + g(x - iy))$ is a nonconstant real solution of*

$$\theta_{xx} - \theta_{yy} + \delta \exp(\theta) = 0. \quad (3.8)$$

Then, for $\delta > 0$, there exists real constants A, B, C , and λ such that θ has at least the following six forms.

$$\theta = -2 \ln [A + B(x + iy)^2 + B(x - iy)^2] \quad \text{provided } 16AB = \delta, \quad (3.9)$$

$$\theta = -2 \ln [A + B(x + iy) + C(x + iy)^2 + B(x - iy) + C(x - iy)^2] \\ \text{provided } 16AC = 8B^2 + \delta, \quad (3.10)$$

$$\theta = -2 \ln [A \cosh \lambda(x + iy)] \quad \text{provided } 4\lambda^2 A^2 = \delta, \quad (3.11)$$

$$\theta = -2 \ln [A \cosh \lambda(x - iy)] \quad \text{provided } 4\lambda^2 A^2 = \delta, \quad (3.12)$$

$$\theta = -2 \ln [A \cosh \lambda(x + iy) - B \cos \lambda(x - iy)] \quad \text{provided } 4\lambda^2 (A^2 - B^2) = \delta, \quad (3.13)$$

$$\theta = -2 \ln [A \cosh \lambda(x - iy) - B \cos \lambda(x + iy)] \quad \text{provided } 4\lambda^2 (A^2 - B^2) = \delta. \quad (3.14)$$

Moreover, each of (3.9), (3.10), (3.11), (3.12), (3.13), and (3.14) is a solution of the form $\Phi(f(x + iy) + g(x - iy))$.

4. Remarks

REMARK 1. In the case of $\delta < 0$, which corresponds to the situation of endothermic reaction, Theorems 2.1 and 2.2 can be suitably modified.

REMARK 2. Finally, it remains to verify that the structures of α_1 and α_2 for other choices of $P(z)$ are not in accordance with the statements of the theorems:

(a) It is well known from the theory of ordinary differential equations that for the case where $P(z)$ is a complex number (say $P(z) = 2\lambda^2 i$),

$$\alpha_1 = A \exp(\lambda(1+i)z) \quad \text{and} \quad \alpha_2 = B \exp(-\lambda(1+i)z). \quad (4.1)$$

It is evident that $\alpha \neq F(x) + G(y)$.

(b) The nature of the solution for the case where $P(z)$ is periodic (the general Mathieu's equation, Schrödinger equation, or any linear differential equation with periodic coefficient which are one-valued functions of z like the Hill's types) is established in the results known as Floquet's and Bloch's theorems (see [6] for details). However the simple case $\alpha'' - (2 \sec^2 z)\alpha = 0$ leads to $\alpha_1 = A(1 + z \tan z)$ and $\alpha_2 = B \tan z$ which invariably does not conform to the statements of Theorem 2.1.

(c) Application of Fuch's theorem to the case of $P(z) = K(z - z_0)^{-n}$ ($n \geq 3$), where K and z_0 are constants, clearly shows that a solution of the form $\alpha = \sum a_n (z - z_0)^{q+n}$ cannot exist at singular points z_0 . Nevertheless, this theorem guarantees the convergence of solutions for the case $n = 2$ (i.e., Euler's equation) and $n = 1$ but definitely not of the required form. Observe that for the case $n = 2$, if

(i) $K = 1/4$, then $\alpha_1 = Az^{1/2}$ and $\alpha_2 = B(\ln z)z^{1/2}$.

(ii) $K > 1/4$, then $\alpha_1 = Az^\lambda \cos(\mu \ln z)$ and $\alpha_2 = Bz^\lambda \sin(\mu \ln z)$, where λ and μ are real constants.

(iii) $K < 1/4$, then $\alpha_1 = Az^r$ and $\alpha_2 = Bz^p$ with r and p being real numbers.

(d) It is often possible to transform a differential equation with variable coefficients into a Bessel equation of a certain order by a suitable change of variables. For example, it is easy to show that a solution of

$$z^2 \alpha'' + \left(p^2 \beta^2 z^{2\beta} + \frac{1}{4} - v^2 \beta^2 \right) \alpha = 0, \quad z > 0 \quad (4.2)$$

is given by $\alpha = z^{1/2} f(pz^\beta)$, where $f(\eta)$ is a solution of the Bessel equation of order v . Using this result, we can show that the general solution of the Airy's equation $\alpha'' - z\alpha = 0$, $z > 0$, is $\alpha_1 = Az^{1/2} f_1((2/3)iz^{3/2})$ and $\alpha_2 = Bz^{1/2} f_2((2/3)iz^{3/2})$, where $f_1(\eta)$ and $f_2(\eta)$ are linearly independent solutions of the Bessel equation of order one-third. Note also that $U(z)$ satisfies the Hermite differential equation if and only if $\alpha = \exp(-z^2/2)U$ satisfies $\alpha'' + (\lambda + 1 - z^2)\alpha = 0$. Hence, for $P(z)$ is a polynomial in z , the pair of functions α_1 and α_2 clearly will not lead to the required separation of variables needed in Theorem 2.1.

(e) It suffices to say that the case of $P(z)$ is a continuous function leads to two linearly independent convergent power series solutions in powers of z which are not of closed-form in nature (see [2]).

(f) Another important possibility of $P(z)$ is obtained by using the notation of elliptic functions which gives rise to Lamé's equation when

$$P(z) = n(n+1)\mathcal{P}(z) + B \tag{4.3}$$

with

$$\mathcal{P}(z) = \frac{1}{sn^2(z:k)} - \frac{(1+k^2)}{3} \quad k \neq 0 \text{ and } k \neq 1. \tag{4.4}$$

If $z = 2V$ and $\alpha = [\mathcal{P}'(V)]^{-n}L$, then Lamé's equation is transformed into

$$\frac{d^2L}{dV^2} - 2n \frac{\mathcal{P}''(V)}{\mathcal{P}'(V)} \frac{dL}{dV} + 4\{n(2n-1)\mathcal{P}'(V) - B\}L = 0. \tag{4.5}$$

It is easy to show that if $n = 1/2$ and $B = 0$, we obtain

$$\alpha_1 = A_0 \left\{ \mathcal{P}'\left(\frac{1}{2}z\right) \right\}^{-1/2} \mathcal{P}\left(\frac{1}{2}z\right) \quad \text{and} \quad \alpha_2 = B_0 \left\{ \mathcal{P}'\left(\frac{1}{2}z\right) \right\}^{-1/2}, \tag{4.6}$$

where A_0 and B_0 are arbitrary constants. However, if $B \neq 0$, then the constant B is determined by the condition that Lamé's equation should have a solution in the form of a polynomial in $\mathcal{P}(z)$ or in the form of a product of this polynomial and a factor of the form $\sqrt{\mathcal{P}(z) - e_1}, \sqrt{\mathcal{P}(z) - e_2}, \sqrt{\mathcal{P}(z) - e_3}$, where $e_1 + e_2 + e_3 = 0$ (see [8]). Further investigation reveals that if

$$P(z) = \frac{1}{4} \left(\frac{2}{sn^2(z/2:k)} - 1 - k^2 \right), \tag{4.7}$$

then

$$\alpha_1 = \frac{(A_0 + B_0)^{1/2}}{\sqrt{k}sn(z/2:k)} \tag{4.8}$$

and

$$\alpha_2 = \frac{(A_0 - B_0)^{1/2}}{k^{3/2}sn(z/2:k)} \left[\frac{z}{2} - E\left(\frac{z}{2}; k\right) \right] \tag{4.9}$$

with $2(A_0^2 - B_0^2) = k^4\delta$, where $E(u:k)$ is the fundamental elliptic integral of the second kind. It is well known that $E(u:k)$ is not doubly periodic and it has been established that no algebraic relation can exist connecting them with $sn(u:k)$, $cn(u:k)$, and $dn(u:k)$ [10]. Nevertheless, it is observed that if $A_0 = B_0 = 1/2$, then we obtain the limiting case $\delta = 0$ and

$$\begin{aligned} \alpha &= \frac{1}{k sn(z/2:k) sn(\bar{z}/2:k)} = \coth \left(\frac{1}{2} \ln \left\{ \frac{1 + k sn(z/2:k) sn(\bar{z}/2:k)}{1 - k sn(z/2:k) sn(\bar{z}/2:k)} \right\} \right) \\ &= \coth \left(\frac{1}{2} \ln \left\{ \frac{dn((z+\bar{z})/2:k) - kcn((z+\bar{z})/2:k)}{dn((z-\bar{z})/2:k) - kcn((z-\bar{z})/2:k)} \right\} \right) \\ &= \coth \left(\frac{(A(x) + B(y))}{2} \right), \end{aligned} \tag{4.10}$$

where $A(x) = \ln[dn(x:k) - kcn(x:k)]$ and $B(y) = -\ln[dn(iy:k) - kcn(iy:k)]$. Therefore, $\theta = -2 \ln[\coth((A(x) + B(y))/2)]$ and [7, Thm. 1, eq. (1.5)] follows immediately. It is clear that the solutions related to elliptic functions do not conform to the statement of Theorem 2.1.

ACKNOWLEDGEMENTS. The author thanks Ladoko Akintola University of Technology, Ogbomoso, Nigeria for the sabbatical period spent there during which this paper was written. Extensive investigations of some possibilities of $P(z)$ were carried out at the International Centre for Theoretical Physics, Trieste, for which I hereby acknowledge hospitality.

REFERENCES

- [1] J. Adler, *Thermal explosion theory for a slab with spatially periodic surface temperature*, Combustion and Flame **24** (1975), 269–271.
- [2] W. E. Boyce and R. C. Diprima, *Elementary Differential Equations and Boundary Value Problems*, 3rd ed., John Wiley & Sons, Inc., New York, London, Sydney, 1977. Zbl 353.34001.
- [3] J. D. Buckmaster and G. S. S. Ludford, *Theory of Laminar Flames*, Cambridge Monographs on Mechanics and Applied Mathematics, Cambridge University Press, Cambridge, New York, 1982, Electronic & Electrical Engineering Research Studies: Pattern Recognition & Image Processing Series, 2. MR 84f:80011. Zbl 557.76001.
- [4] D. Frank-Kamenetskii, *Diffusion and Heat Transfer in Chemical Kinetics*, Plenum, New York, 1969.
- [5] E. G. Kalnins and W. Miller, Jr., *Differential-Stäckel matrices*, J. Math. Phys. **26** (1985), no. 7, 1560–1565. MR 86i:35019. Zbl 586.35008.
- [6] H. Margenau and G. M. Murphy, *The Mathematics of Physics and Chemistry*, 2nd ed., D. Van Nostrand Company, Inc., Princeton, NJ, 1956. MR 17,558h. Zbl 071.04801.
- [7] L. A. Rubel, *Closed-form solutions of some partial differential equations via quasi-solutions. II*, Illinois J. Math. **36** (1992), no. 1, 116–135. MR 92j:35022. Zbl 734.35015.
- [8] V. I. Smirnov, *A Course of Higher Mathematics. Vol. III, Part two, Complex Variables, Special Functions*, Pergamon Press, Oxford, Edinburgh, New York, Paris, Frankfurt, 1964. MR 32#173. Zbl 118.28402.
- [9] J. T. Stuart, *On finite amplitude oscillation in laminar mixing layers*, J. Fluid Mech. **59** (1967), no. 3, 417–440. Zbl 152.45403.
- [10] E. T. Whittaker and G. N. Watson, *A Course of Modern Analysis. An Introduction to the General Theory of Infinite Processes and of Analytic Functions: with an account of the principal transcendental functions*, 4th ed., Cambridge University Press, New York, 1962. MR 31#2375. Zbl 105.26901.

OKOYA: DEPARTMENT OF MATHEMATICS, OBAFEMI AWOLowo UNIVERSITY, ILE-IFE, NIGERIA
 E-mail address: sokoya@oauife.edu.ng